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QUADRATIC EQUATIONS

THE QUADRATIC FORMULA

Ref: (}243.2 R1

Al
Solve
3+ 8x+2=0

Give your answers correct to
3 significant figures.

A2
Solve
2*+5x-4=0

Give your answers correct to
3 significant figures.

A3
Solve
4° - Tx+1=0

Give your answers correct to
3 significant figures.

Ad
Solve
2> —4x-9=0

Give your answers correct to
3 significant figures.

Bl
Solve
Sx°+8x—1=4

Give your answers correct to
3 significant figures.

B2
Solve
502+ Tx + 3 =x7

Give your answers correct to
3 significant figures.

B3
Solve
X —dx+3=4x+8

Give your answers correct to
3 significant figures.

B4
Solve
5+9x+4x° =4

Give your answers correct to
3 significant figures.

C1

Calculate the discriminant and state
the number of solutions to:

W+ dx+2

C2

Calculate the discriminant and state
the number of solutions to:

23 +4x+5

C3

Calculate the discriminant and state
the number of solutions to:

3t —Tx -2

C4
Calculate the discriminant and state
the number of solutions to:

¥ —6x+9

D1

Write down an equation, which leads
to the calculation

-3+v9+12

2

X =

D2

Write down an equation, which leads
to the calculation

11£+121-40

4

X =

D3
Write down an equation, which leads
to the calculation

—4++16+20

10

X =

D4
Write down an equation, which leads

to:
~8++/64—48

6

X =
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QUADRATIC EQUATIONS

THE QUADRATIC FORMULA

Ref: G243.2 R 1

Al Solve A2 Solve A3 Solve A4 Solve
3 +8x+2=0 2% +5x-4=0 47 —Tx+1=0 2x* —4x-9=0
5= —(8) £ +/(8)" —4(3)(2) x= —(B)£+/(B)" —W(2)(-}) o —(=7)£(=7) = H(H)(1) . —(-H) £ \/(—‘4)2 - W(2)(-9)
2(3) 2(2) 2(4) 2(2)
=—-0279 or-339 = (0.637 or—34HU =159 or 0457 =335 or—135
B1 Solve B2 Solve B3 Solve B4 Solve
52 +8x—1=4 5x2+ Tx + 3 =x* X —4x+3=4x+38 54+9x+4x* =4
5x*+8x—-5=0 Ux*+7x+3=0 X*—8x-5=0 Ux*+9x+1=0
x=0481 or x=-208 x=-1 or x=-075 x=858 or x=-0583 x=-243 or x=-0417
C1 C2 C3 C4
X +4x+2 2 +dx + 5 3% —Tx -2 ¥ —6x+9
b* —Uac =16-8 b? —ligc =16 - U0 b? —lac = U9 — (—24) b* —Uac =36 — 36
(+ve) .~ two solutions (~ve) .. no solutions (+ve) .. two solutions (zero) .. one solution
D1 x> +3x-3=0 D2 2x*-11x+5=0 D3 5x?+Ux—-1=0 D4 3X% +8x+U=0

Write down an equation, which leads

to the calculation (3)
Hac
O il

2
b® x= > P

Write down an equation, which leads
to the calculation

11+£+121-40
X=———
4

Write down an equation, which leads
to the calculation

L 416420

10

Write down an equation, which

leads to:
—-8++64—-48

6

X=
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